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puAUUGLL DUuUGN 377 015,2| 143 516,1 143 516,1| 195532,1 195 532,1 37 967,0 37 967,0
wyn pynLd
LUuBUSHhY SUUGN 377 015,2| 143 516,1 143 516,1| 195532,1 195532,1| 37 967,0 37 967,0
wjn pyntd
untruhNhuutP 339 048,2| 143 516,1 143 516,1| 195532,1 195 532,1 0,0 0,0
wjn pyntd
QtrOwnynipintGbbnhb L YuwgdwytpwnipintGbtphb wtnpdnn 339 048,2| 143 516,1 143 516,1| 195532,1 195 532,1 0,0 0,0
unLpuhnhwbn
QUBUShY SPULUDENSLEN 37 967,0 0,0 0,0 0,0 0,0/ 37967,0 37 967,0
wjn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 37 967,0 0,0 0,0 0,0 0,0/ 37967,0 37 967,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpotn 37 967,0 0,0 0,0 0,0 0,0 37967,0 37 967,0
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puAUUGLL DUuUGN 2238291,2| 52099,3 52 099,3| 2186 191,9 2186 191,9
wyn pynLd
LUuBUSHhY SUUGN 138 291,2| 52 099,3 52 099,3 86 191,9 86 191,9
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unruuvLeLEMh ALUUL G4 ounu3nt@3nNtuueNrh 138 291,2| 52 099,3 52 099,3 86 191,9 86 191,9
Jysunruuu oukuuenN
wjn pyntd
Uj| Swfuubn 138 291,2| 52 099,3 52 099,3 86 191,9 86 191,9
wjn pyntd
Uy, Swrewjntpintbbeph dGrppbndwl dwiuukn 138 291,2| 52 099,3 52 099,3 86 191,9 86 191,9
LUuMhSUL SuueP 2100 000,0 0,0 0,0| 2100 000,0 2100 000,0
wjn pyntd
uunhsulL veNPNPNFULENh SUlbuGN 2100 000,0 0,0 0,0| 2100 000,0 2100 000,0
wjn pyntd
L3NHBUYUL NBUNtPULENh MESUYUL MULNFUSHh 2100 000,0 0,0 0,0| 2100 000,0 2100 000,0
24yudNnMrUUL duluueP
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CLAUUELO SUUGP 250 000,0[ 70 000,0 70 000,0 180 000,0 180 000,0
wyn pynLd
0LBUShY BURUGN 250 000,0[ 70 000,0 70 000,0 180 000,0 180 000,0
wjn pyntd
DLBUShY SPULUDENSLEN 250 000,0 70 000,0 70 000,0 180 000,0 180 000,0
wjn pynd
Wy ppwghy tnpwGudtnunwihG yAwnltn 250 000,0[ 70 000,0 70 000,0 180 000,0 180 000,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 250 000,0( 70 000,0 70 000,0 180 000,0 180 000,0
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puLAUUGLL DUuuGN 991 625,1 41 000,0 41 000,0 21500,0 21 500,0 100 000,0 100 000,0
wjn pyntd
LUuBUSHhY SUUGN 701642,0 41 000,0 41 000,0 21500,0 21500,0 100 000,0 100 000,0
wjn pyntd
untpruhNhuutP 369 783,6 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 369 783,6 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 327 558,4 41 000,0 41 000,0 21500,0 21500,0 100 000,0 100 000,0
wjn pyntd
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 327 558,4 41 000,0 41 000,0 21500,0 21 500,0 100 000,0 100 000,0
wjn pynd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 327 558,4 41 000,0 41 000,0 21500,0 21500,0 100 000,0 100 000,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 4 300,0 0,0 0,0 0,0 0,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 4 300,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 4.300,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- gpwubbjwywiht wwpwbpbtn L GnLptbn 4.300,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuMhSUL SuueP 289 983,1 0,0 0,0 0,0 0,0 0,0 0,0
wyn pynLd
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yunhsul veNANPNFULENHh SUuUGN 289 983,1 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
LUuNhSUL chuuruNrnNkE3UuL SuuutN 223 183,1 0,0 0,0 0,0 0,0 0,0 0,0
LUUNhSUL U4sShyuGNh 26NLAGNUUL CUUGH 66 800,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 66 800,0 0,0 0,0 0,0 0,0 0,0 0,0
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8 9 10 11 12 13 14 15
puLAUUGLL DUuuGN 369 783,6 369 783,6| 180 000,0 180 000,0( 113 058,4 113 058,4 71 100,0 71 100,0
wyjn pyntd
LUuBUSHhY SUUGN 369 783,6 369 783,6 0,0 0,0] 113058,4 113 058,4 4.300,0 4 300,0
wjn pyntd
untpruhNhuutP 369 783,6 369 783,6 0,0 0,0 0,0 0,0 0,0 0,0
wyjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 369 783,6 369 783,6 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0] 113058,4 113 058,4 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 0,0 0,0 0,0 0,01 1130584 113 058,4 0,0 0,0
wyn pyntd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 0,0 0,0 0,0 0,0] 113058,4 113 058,4 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0 4.300,0 4 300,0
Jsuruuu oukuutenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 0,0 0,0 0,0 0,0 0,0 0,0 4.300,0 4 300,0
wjn pyntd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 0,0 0,0 0,0 0,0 0,0 0,0 4.300,0 4.300,0
wjn pyntd
- gpuubljwywiht wwpwGpbtp L Gjnupbn 0,0 0,0 0,0 0,0 0,0 0,0 4.300,0 4 300,0
LUuMhSUL SuueP 0,0 0,0( 180 000,0 180 000,0 0,0 0,0 66 800,0 66 800,0
wyn pynLd
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10 11 12 13 14 15
yunhsul veNANPNFULENHh SUuUGN 0,0 0,0( 180 000,0 180 000,0 0,0 0,0 66 800,0 66 800,0
wyn pyntd
LUuNhSUL chuuruNrnNkE3UuL SuuutN 0,0 0,0] 180 000,0 180 000,0 0,0 0,0 0,0 0,0
LUUNhSUL U4sShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 0,0 66 800,0 66 800,0
wjn pyntd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0 66 800,0 66 800,0
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puLAUUGLL DUuuGN 43 183,1 43 183,1 52 000,0 52 000,0
wjn pyntd
LUuBUSHhY SUUGN 0,0 0,0 52 000,0 52 000,0
wjn pyntd
untpruhNhuutP 0,0 0,0 0,0 0,0
wjn pyntd
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuLBUShY SPULUDENSLEN 0,0 0,0 52 000,0 52 000,0
wjn pyntd
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 0,0 0,0 52 000,0 52 000,0
wjn pynd
- pOpwghy Gbnpht wy wpwbubbpunuwiht yawnbtn 0,0 0,0 52 000,0 52 000,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 0,0 0,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 0,0 0,0 0,0 0,0
wjn pyntd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 0,0 0,0 0,0 0,0
wjn pyntd
- gnwutluywiho wwnwbpbtn L Gnupbn 0,0 0,0 0,0 0,0
LUuMhSUL SuueP 43 183,1 43 183,1 0,0 0,0
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yunhsul veNANPNFULENHh SUuUGN 43 183,1 43 183,1 0,0 0,0
wjn pynLd
LUuNhSUL chuuruNrnNkE3UuL SuuutN 43 183,1 43 183,1 0,0 0,0
LUUNhSUL U4sShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 0,0 0,0
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